FTH6EE REANEHR

B % 45 58 68 78 88 | 9B | 10A 118 | 12A 15 28 3R 1 =
1= AHTRF | 1583 E(F 23HL 1T 21B EIF
_ EREB A p—
Ll 1B 5/7~6/14_ | A SHEMMEE
= TR T 6B ET 218 R 268 EF  25HZ T T3EILET TEER AT ] ;e
2 IS S —_— iy
ol o/ 17e RASHAMBEET] IR e
a — 1AL 16 B 55 B B4R 25HZ1E 1985 ERA
. . ERER — R
E > |
. SBRBERSS
;:E JE 6/3~6/14
B AR A E B A 4R 5A 6 A 7R 8H 9R 10AR 11A8 128 1A 2A 3A . =
] B 1BR] 28 | 15[ 28R (18R [ 28R [ 1 B [ 28R | 1SR 28 [ 18R [ 28R [ 1SR [ 28R | 18R 28R [ 15[ 28R [ 1SR [ 28K [ 15[ 25F | 15F[ 28
£ Ly C A 0. 01e/m°NLUTF 0.0015k% | 0.0015K% 0.0015k% | 0.0015K% 000154 | 0.0015K% 0.0015k% | 0.0015K% 0.0015k% | 0.0015k5% | 0.00153% | 0.0015%
W E B Y 10ppmLL T 09 | 26 57 | 44 29 | 44 65 | 45 1.0 | 58 [o7ki| 24
B &t K = 10ppmELT 36 | 6.7 14 | 20 1.7 | 24 37 | 44 03k 2.9 [oskm| 3.0
Z2 = B £t D 50ppmELT 28 | 32 26 | 38 31 49 26 | 42 38 | 26 [ 30 | 37
0" 10me/mNELF 0.0045k3 | 0.0045%3% 0.0045k3 | 0.0045%3% 0.0045k3 | 0.0045%3% 0.0045k37 | 0.0045%3% 0.0045k37 | 0.0045k3% | 0.0045k % | 0.0045k % £ 6 @ B F
h K =2 9 L 1me/m NELTF 0.0045k# | 0.00453% 0.0045k3 | 0.0045%3% 0.0045ki | 0.0045%3% 0.0045k# | 0.0045%:% 0.0045ki | 0.0045k3% | 0.0045% | 0.0045k %
ﬁ Iu\ —_ 0.0043k# | 0.004# 0.0045k# | 0.004# 0.0045k# | 0.0043# 0.0045k# | 0.004# 0.0045k# | 0.0043K# | 0.0045 | 0.0045 &
7K E) 0. 05mg,/m3NEL T 0.00020| 000010 00001053 0.00055 000011353 00001155 000011353 00001155 [ 0000115858 | 0.00011 58
— B & & & 100ppmEL T 3 3 18 6 7 2 1 2 2 2 8 2
A X U8 0.1ne-TEQ, m°NELT 0.0000014] 000000069 000000015 | 000000015 F2R A E
== - ] ]
BE ﬁi&lﬁiﬁ ko e HEEE 4H 55 6H 7H 8H 9A 10A 1A 12R 18 2R 3R 1] E
F B8 ~ F % 8FF 60dB (A) LT 5858 574%
B o= FRI6E ~ T AISH 5548 (A) LI T 5158 5405
B 5 FREE~ 115 55dB(A) LT 5328 5308 E2@EEE
%118~ BI6H 5008 (A) LLF 489 4905 I
E RSB~ F 5 8BF 65 dBLLT 387/ 38.6/
%8B~ FRISES 60 dBLLT 36.4/ 38.6m
% 15 2 12T 10K 10K:% 10K 10K:% F 4 @ A E
# k e et T HAEBUT HAEBUT £ 2@ 8%
REZADA 45 58 68 78 87 Y 108 118 128 18 2 38 s %
ER TR E [ Y [ i o
— B 1t o= (Yo o 8;3%5%1
— Bt = % | _ s (X)) (YD) e L N
= 1t 7K? B # (2 & ﬁ [ P5 [ ¥ 'iféfﬁ_\Lﬁ,ﬁlJ\j—h
TS (X5 (X3 (RIHLL OANE
[o):1}:inbuk1:id
K iR [ D] [ D]
LRz oR Hif 48 58 68 78 87 Y 108 115 125 18 2 38 i %
[ 8,000Bq. kg LT TRE ENET] ENET] ENET] ENET] ENET] ENET] T T T ENET] ENET]
e R (3¢1: 4,000BqkgLATF) 34 54 35 28 23 37 20 22 28 18 24 29
EARA(E 1Ba/ MUT ENETE {RIEFR TRE ENETE ENETE ENETE TRE ENETE ENETE R TR TR #A1EEE
HAR(2E 1Ba/ ML F EN T RiEFR RiEFR EN T ES T EN T RiEFR EN T EN T EN T EN T AEE
B K 1Bqa /LU T TR ] ] TRl T TR TRE TRl TRl TR TR TR
ERIMSTHREE HEE Tm [5em| 1Tm |5ecm| 1Tm |5em| Tm [5em| 1m |5em| 1Tm |[Sem| 1Tm [5em| 1m |5em| 1m |S5em| 1Tm [5em| 1m | 5em| 1m | 5em
BIMERGR  (8) (usvh 0.07 | 0.07 | 0.07 | 0.07 | 0.07 | 0.07 | 0.07 [ 0.06 | 0.06 | 0.06 | 0.07 | 0.07 | 0.06 | 0.07 | 0.07 [ 0.07 | 0.07 | 0.06 | 0.07 | 0.07 | 0.07 | 0.07 | .0.07 | 0.07
ERHIERGE  (78) (usv.h) 0.06 | 0.06 | 0.07 | 0.06 | 0.06 | 0.06 | 0.05 [ 0.03 | 0.06 | 0.06 | 0.07 | 0.05 | 0.06 | 0.06 | 0.06 | 0.06 | 0.06 | 0.06 | 0.07 | 0.07 | 0.07 | 0.06 | 0.06 | 0.06 ER1EEE
HWERE  (F) (usvh) 023 uSv ./ h K i 0.07 | 0.07 | 0.07 | 0.07 | 0.07 | 0.07 | 0.06 [ 0.05 | 0.06 | 0.07 | 0.07 | 0.07 | 0.07 | 0.07 | 0.07 [ 0.07 | 0.07 | 0.07 | 0.07 | 0.08 | 0.07 | 0.07 | 0.06 | 0.06 (%2) =
EHERE (L) (usvh) 0.04 | 0.04 | 0.04 | 0.04 | 0.04 | 0.04 | 0.07 [ 0.07 | 0.04 | 0.04 | 0.04 | 0.04 | 0.05 | 0.04 | 0.04 | 0.04 | 0.04 | 0.04 | 0.05 | 0.04 | 0.05 | 0.04 | 0.04 | 0.04 :
RENREEEL  (usvh) 0.07 | 0.07 | 0.07 | 0.07 | 0.06 | 0.07 | 0.06 | 0.07 | 0.07 [ 0.07 | 0.07 | 0.07 | 0.07 | 0.07 | 0.07 | 0.07 | 0.07 | 0.07 | 0.07 | 0.08 | 0.07 | 0.07 | 0.08 | 0.08
X1 BIER., SCABERECHLERR - RIEE R e (FR24E10A 1 B B19RIE I A () B EE D E X E D= ED SR E IDAE 0 EDSRFECED I RE KE ZABUN GEER) <ET 55CH

BEMAOERTHIEIHOREICELSD,

%2 HHM5FE6AFETH2ERIE




	環境測定（改定）

